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Experimental Probability

TERMINOLOGY

Probability: /727425100 _of e Lk Yoo (chanas) oo Leu - wil] occus
Trial: _One round jn o onobzb//ffc/ experrmedt.

Outcome: / JO(S’/b/c’ /.ﬂm:/f of on /Ar,off/mmf (oo 905515///7610!‘ of a tom Aoss)
Event: A .v._of of pufromes Wﬂ% the <ame result- (oo @Tling hfdd:)

2 5 A
Frequency: 70%// #q/(?ﬁfmwﬂ /4?)_/’ aul prent. [ﬂﬁ M Heads 3{2”@}

Where is probability used? Wﬁ&t’/f)’&”,é/?a?ﬂ&; Sﬂ&/k ﬁg—/-éffé('_f )
\/aaméécq/;a oddls, ceasws oata Qcciddeal Sltetrstics

Probability is always a value between O and 7 and con be represented asa . @

Lrochon [2) clecimal /0.‘;/) _ gprcent ‘7(0[ Y
] L_S/ 7 i 2 7
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Experimental Probability Formula:
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EXAMPLE 1
a) Two six-sided dice were rolled 20 times. Doubles were rolled 4 times. Determine the
Ev.em(': experimental probability of rolling doubles. Express your answer as a fraction in lowest
domb}p} terms, as a decimal, and as a percent.
/(a/mé,@s) = H puessful hrial As clecimal/ -51- = 0.2
/D?éz £ A .
/# r1al5 As o peA’é’A./.L = 207/

|l

-~ the ,Of/’/ﬂ?ﬁ? /oéf?é//
I m/[a:fj ddo&ég /s L e ,,20 4

)

b Y

b) Write the probability of NOT rolling doubles as a fraction in lowest terms, as a decimal and
as a percent.  £uent = 1p Abeebes-
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EXAMPLE 2

2
A coin was tossed 30 times. The experimental probability of turning up heads was =.

a) How many times did the coin turn up heads? 61)8‘1;(‘:: heads
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b) How many times did the coin turn up tails?
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c) What was the experimental probability of it turning up tails?
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EXAMPLE 3 =

Roll of a Die

The results of rolling a six-sided die are displayed in the graph. :] _ B
a) How many trials were there? g 4 T
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b) How many times was a 5 rolled? 201125 0
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c) Find the experimental probability of rolling a 6.
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d) Find the experimental probability of rolling a 3 or 5.
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